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- Function Introduction and Notes -

This is a style file for compiling basic math
formulas.
\NewDocumentCommand allows you to specify
whether the formula should be used within a

sentence or on a new line.

Although not shown in the examples below, if [i]
or [b] is not specified, it is automatically

assumed to be [i].

When making two-column document, you are
recommended to put these lines at preamble.
These reduce the space above and below math

expressions.

\AtBeginDocument{
\abovedisplayskip

\abovedisplayshortskip=0\abovedisplayshortskip

\belowdisplayskip

\belowdisplayshortskip=0\belowdisplayshortskip}

=0\abovedisplayskip

=0\belowdisplayskip




BUT 235261,

\ZRAER {AA}]]

(a+b)* = a® + 2ab + b
\=RHER {AFA}[Db]

(a+b)* = a® + 2ab + b*

\=RXABDE {AFKA}]
a2 +2ab + b2 = (a + b)*
\=RKXRAHDE {AHKA}[b]

a® + 2ab+b* = (a +b)*

\ZRER {AFA}[]

(a+b)* = a® + 2ab + b
\=RAER {2/LA}[b]

(a+b)* =a®+ 2ab+ b?
\=XRAER {2B}[i]
(a —b)* = a® — 2ab + b
\=RHAER {AXB}[b]

(a —b)* = a® — 2ab + b

\=XRHAEHR {ARC}]
(x —a) (z+a) =22 — a?

\ZRAER {ARC}Hb]

(r —a)(z+a) = 2* — a?

\=XRAER {BTD}i]
(x+a)(z+bd)=z+ (a+b)xz+ab
\=XRAER {A”TD}[b]

(x4+a)(z+b) =2+ (a+b)x+ab

\ZRARE DR {AHXA]
a? 4 2ab+ b2 = aer)2
\ZRARE D {AXA}b]

a® +2ab+b* = (a +b)*

Now, here are the actual examples!



\“:Ttlﬁ ME {RHBL]
—2ab+b? = (a —b)*
\= /)\_t."ﬂﬁj\ {2=HB}[b]

a? —2ab+ b = (a — b)?

\=RARHDE {AHD}[i]
x4+ (a+b)x+ab=(zx+a)(x+b)
\=XRARAKDE {RAD}[b]

x4+ (a+b)x+ab=(z+a)(z+Db)

\FHR {E5}[]
a FFEFELT, Va2 =|d|
\FAR {E&E}[D]
a lFFEHELT,

Va2 = lal

\FEAR {EEA}]

aZ00rE, (Va) =(—va)=a, ya<0
\ AR {EEA} D]

al0DEE,

\FAIR {HEEB}]
Va = lal
\PA1R {HEEB}[b]

Va = al

\FEAR {HEECH]]

a>0,b>0, a£bDE %, Javb=Vab
\ AR {HEEC} b
a>0,0>0,aAbDLE,

Vavb=Vab

\FA1R {#EED}i]
Va a

vb Vb




\FA1R {£ED}b]

N
T-VE
\FEAR {HEE}[i]

Vk?a = ky/a
\FH1R {H£EE}[b]

Vi?a=kva

\—RTE (HEEAY]

a<bDEE at+c<b+c
\—RAZER {EEA} D]

a<b®&g€a
a+c<b+c

\—RTER {HEB}[]
c>0DEE, ac<be
\—RAER {EEB}[b]

C>O@t§’

ac < be

\—RAER {HECH]
c<0DEZE, ac>be
\—RAH {HEEC}[b]

c<0DEE,

ac > be

\&E& {BESL]
(AN B)
\EA {BEA)D

(AN B)

\&E& (IEE1[i]
(AUB)
\EE [FI%EE} ]

(AU B)

\EE (A
(4)




\&& {#&E5} b
(4)
\X$18 {732 }i]
P72 Q DMEIZBNWT,
Wilx Q 513 P
HiZ P ThoiEslEQ ThN
MEIE Q THRVWAESIX P TN
W E LD MED B IE T 3,
\XHB {EE}[b]
PZ5iXQ DaEIcBNWT,
HixQ ol P
HiZF PTROESIXQ THRY
SEIZ Q THVWAESIE P TRY
WHEE O MED B IX—T 3,
\XH& {FEFA}
G|
mE%E Tpoifq LU p DEIEESE P, g DEMESE Q LT3,
Tp%6iEq PEDEE, QC P& PCQ XOMNEGE Tqg TARAVWESIE p TRV, FE,
Dol q PEDEE, Q¢ P& P ¢ Q XDMNEME Tqg THhVWiESIEp TV, &,
o T, WHHEMEETTOMEDEHIE KT B, (Q.E.D.)
\EEE
MEPZLIEQIINLT P TEVWELIEQ EIKELTFEEZTRT,
\ZREH {(FEF ]
y=a(r—p)’+q
\ZREAE {12} D]

y=a(z—p)’+gq

\ZRE {—&FE ]
y=ax?+br+c
\ZREH {—RTE}[b]

y=azx>+br+c

\TREIS (WA

y=a(z—a)(z—-p5)

\ T RS (WA [b]
y=a(z—a)(zr-p5)

\TREIE {FHERL
b )_ b — dac

— 2 =4 — b
y=azr’+br+clZHLT, y a(x—f— 5 1a




\=REEE {FA5ER} b
y=az?+br+cIlZHLT,
v=alorgr) - B
\=RABRXDBDOARK {AH ]
ar? +br+c=0(a#0)ICHLT, == —bd Vb7 —dac ~215—4ac
\=RABRKDBEDAR {AH}[b]
az? +bx+c=0(a#0)ICHLT,
o —bE Vb2 — dac
2a
\ZRAERDEDORT {FEHAL]
(FEER]

ax?+bx+c=0

(QED.)
\ZRARROBOAT {FEHB)]
|EnaE)|

ax’ +br+c=0
4a’2* + 4abx + dac =0
(2azx + b)* — b? + dac = 0
2ax + b = £/ b? — dac
_ bk VP

2a

X

(QE.D.)
\SAk0ES [EHEAL
C




M DBk Ef = A ABCIZBWT LCAB=0 D& &,

Lg_BC _ ., AB . BC
sinf = A cosf = AC tanf = AD
\=ABDOEE {E&B}
Y

X8 W T

sinf = £7 cosf =L tanf = Y
r r x

IDEE, r=11IKLTH Mz RbR,
\=ALOHEEREFR {AHAL])
sin? 6 + cos? 0 =1

\= AL OEEER {AXA}[b]

sin? 6 + cos?0 =1

\=ALOHEEREFR {2AXB}]]

sin 0

tanf =

cos 0
\=ALOHEERER {AXB}b]

sin 6
cosf

\SALORERR {AC}]]

1+ tan?6 = 12

cos” 0
\=AtOHEERER {AHXC} b

tanf =

2, 1
1+ tan“0 = g
\= OB ERE {3E8)
|G|
Y




KIZH W T, sinf):%, COSQZ% &0

2, 2
sin? @ + cos? § = L2 +2x

r

22T, ZFHOERED 22 + 2 =12 DT

2
. r
sm29+00529:—2:1
r

sin@zg, cosf =2 tanf=2L kv
r r x
sin 6 — Y —iand
cosf T

sin? @ + cos? 6 = 1 DA% cos?§ TH B Z & T,

i 2
sin“ 6 1— 1

cos? 0 cos? 0

co, S0 e kroT
cosf

2 1
tan“ 0+ 1 = Py
\EXEE {AH ]
= ABC DM D¥ZFEEZ R & LT,
\IEZXEE {AH}[b]
—“fiiZ ABC oM EM D% R & LT,

a
sin A

a —
sinA 2R

(b, B, ¢, C 12D\ T b [FARRICHOT)
\IE3XEE {59}
(FiERA]

KizBWTHEADER XD,

LA =/D

=2R (b, B, ¢, CIZOWTH FRICHT)

(Q.E.D.)



DT, MO D¥E%ER ELTsinA =sinD = % £,

a 2R

sinA

\RZKEE {2}

ZAF ABCIZBWWT, a2 =b%+ % — 2bccos A
\RZEE {AH}[b]
=i ABC 28T,

a? =b% + % — 2bccos A

\&EE {FFH)
&)

A H C

MicEWTBC=0q,CA=0,AC=c& LT,
BH =c¢sinA, AH =-ccosA
7z, =¥ BHC IC= VA OEMZHWS Z&I2kD
CB? = BH? + HC?
ZZT, HC=AC—-—AH=b—-ccosA, BH=csinA XD

a? = (esinA)? + (b— ccos A)?
= ?sin® A +b? — 2bccos A + % cos® A
=2 (1 — cos? A) +b% — 2bccos A + ¢ cos® A
=b% 4 ¢ — 2bccos A

£oT,

a? =b% + % — 2bccos A

\ZAFOERE (AR}
E@%Mﬁ@ﬁ%%Stbf,S:%mmM

\ZAFOERE {AR)[b]

“f4J% ABC OWRi% S £ LT,

S = %bcsinA

(Q.E.D.)

(Q.E.D.)



\=AFOEE {FH}

[5E8R])
B
A H C
Xz BWT

BC=a, CA=B, AC=c¢

7, =1l ABC OFif%E S &£ LTS = %AC % BH &, ABsinA = BH 5,

5 = %bcsinA

(QED.)
\BEOKEREE (IEAOEROEL} ]
n(AUB) =n(A)+n(B) —n(ANB)
\IBEOKEER (IEA0EROELR)D]

n(AUB)=n(4)+n(B)—-n(ANDB)

\BEDOKEER (HESOERDELK [

2REAEEZU LT, n(A) =n(U)—-n(A)
\BEDOKEHER (HESDERDELK][b]
efELGZ U LT,

n(A) =n(U)—-n(A)

\IHE D E MR {(MDEA}]

ZODHRZA BIZZZWLT, ADRIDN a0, BORIDPEZNEDDEE, A £/2i1Z B it
Z5HEDEIE a+biD
\IHE D EHER {MOER} D]

TODHERA BIZEWLT, ADERIDPEN B, BORIDPENHEDDEE, A £/21ZB O
ZEDEE a+ biED

\IZE DO EHER {BOEA}]

TODHFRA BILZWLT, ADEIDDZN e, BOEIDPEBbEDDEE, ADDB ORI
254D ab @D

\IZE D EHER {BOEA} D]

TODHER A BIZZWLT, ADRI VP aED, BORIDPEPIEDDEEZ, ADPDBORIS
BAEDOEIZ ab B

\ZE D E M {IBF}i]
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Et%n@@%@#%r@%h?ﬁ&%%ﬁ@ﬁ@wﬂz(nTm
\IBEDK R (B} [b]
87225 nflDb DS r HiEA THENRZHEOEX

|
p=_n
T (n=r)!

\IZE DO & HEE {IBF DI }i]
[5E8R]
B2 nlobors r #iEATIERSIGEDEIZ,

n!
(n—r)!

’I’LX(n—l)x(n—Q)x...(n_r+1):

o, (n’_’“i'r)' % P LET, (QE.D.)
\IHE D EHEE (MR}
8722 n oD OE MR HEDEIF (n — 1)!
\IBA DK E R {MHIEFI} b
B2 nfHDObH D% MHITHEAN DG DEIE

(n—1)!

\IBE DK R (MIEF DI}

(EEHR]

nflDODHDEMIBICHERZ & E, 1 DEBEELTERISE, D n— 1 HZLEXBIEFIOFEBIZEL W, Lo
T—1)lDE%3,

\HE DR {ERIRTI}[]

nflH» 5 r i, BEEHZFFL CHRZG5HDEIE 0"

\IZE DK LR {EEIEFI} D]

n @26 rfll, EBEZIL TIN5

n?”

\BE OB ERE [Haabt)[]
Et%n@@%@#%r@%g%é®ﬁu,Jh:ﬁzgjﬁ

\IBA DR EEE [BaabE)b]

B2 nflObOr 5 r MESGEORIL,

. n!
nCr = rl(n—r)!

\BAOREREE (HaantoEH)(]

(ZEeA]
B3 nflOD O r HEIGAORIE, NEIZBEETHS72bDEDT
nPr n!
rl rl(n—r)!
ot o x,0, L %Y, (QED.)

rl(n—r)

11



\BADKEREE {FLb0ESBIE ]
aﬁpﬁhbﬁqﬁhcﬁr@,t%%ﬁ,%h%é%%ﬁd%%ﬁ@ﬁ@,E%ﬁ(kﬁbqﬂﬂ+r:m
\BAOKEREE (FLHDESDIEI D]

aZSpfl, b2 g, c25r i, &d2k, ZhoEFzEAEDGEEDEKIZ,

n! -, 75 —
W (7’1.7:_[/, p—i—q—l—?“—’n)

\IBADKEREE (AL DDOEETIBSIDIEH} [
(En23)|

nHO b DENMARZEEDEIE n! B 225, n HOPICFHCLOREENTNZDT, REETHSZZ &
“@a%q%%éo (QED.)
\IBEDHREHEE (BEOESE}]

LHERU OEORILFEROFAMICHEIr S LnE X, HRA ORI ZHKIE, P(A) =
\BEDHEHEE (HEDESE}D]

SHRU OEDRILHERD FAMICHEIrS L E E, R A ORI 2RI,

\IBEDOMKEREE HERDESE]
HR A, B AR D 250 e X
\IBE DMK EREE (HERDESE D]
5% A, B AR D 250 e X
\IBA DM ERE (REDHHEA(
EROHR AICHLT, 0S A< 1
\IBE DM B {(RREQHEA}b]
TEDOHE A ISHLT,

0<A<1

\BE DK EHE (BEOMEB)(]
SR U OWHE P (U) =1
\IBE DK EHE (REOKEB)[b)
2% U O

PU)=1

\IBE D E R (IEROEX]
P(AUB)=P(A)+P(B)-P(ANDB)
\IBADKEHEE (IEROEE] b

P(AUB)=P(A)+P(B)-P(ANB)

\IZE DR LR [BEROHERX} (]

12



P(A) =1-P(A)
\BEOKEEE (REROHEE) ]

P(A) =1- P(A)

\BADKEHEE (MU LEROHEE} (]

HRALBAMTOLE, HRADRIDPOHR BRI MK p 13, p= P (A)P(B)
\IBEDOEEE (RIBEROHEE} b

HRA LBV OLE, HRA DRIV OHR B A 21 p i3,

p=P(A)P(B)

\IBE DR BEE (RERTOREE)(]

—FIORTTHG A DR BHEE p £ LT, CORMTE n 5 KERTT A 2 r IS 2%,
nCr (p)T (1 _p)n_T

\IBA DM IR {RERTORE)D)

—HORTCHE A DR BHERE p £ LT, SORGE n 5 KERTT A 207 .S 3 HERI,

ncr (p)r (1 - p)n*T

\IBADIE R (RESTOREOER) (]

(RERA]

n HOBITOS HHR A 8 r FIERZ ZIEFROHEORIZ ,C, 0, 512, A2 ZHERIE p T r Al
2D, ADREXRDPEZMERIEIp—1Tn—r[EEEZ2DT,

ncr (p)r (1 - p)n*T

L55, (QED.)
\IZE DO EEE (M T EHE} ]

FRA P> L ZOHE B DR BHERE, Py(B) = LA0B)

\IBE DM EHER [S SR [b)

HRAPRI o7& ZOHER B Ok 2 HER,

RMB%:E%%EQ

\HEOHEE {0}

13
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Q us]

KIzBWWT O DAL
\KFEDOMEE {HD0}

>
vs)

KIZEBWT O 234900
\RFOME {ED)

=
L oy
A’-"_‘/
O J

XIZEBWT H »TD
\RFEOHE {Ei}
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A D B

KIZBWT G PSEHL
\RFEOHEE {FEiD}

B BWT I DL
\RIFOHE {Fz/\DFEE)}

A

B P C
BP  CQ AR _
PC QA RB

\RFOWE {F z/\OER O]

(FEeA]

15



[\

B P C

MlicBWT =MoLz E 23 &,

AABO : AACO=BP:CP

AABO  BP
AACO  PC
[FfRIC LT,
ABCO  CQ
ABAO ~ QA
ACAO AR
ACBO = RB

ZZT,

AABO ~ ABCO = ACAO _

AACO ABAO ACBO

BP  CQ AR _
“PC QA RB

\BFOBE (X259 ZADEE]

A
R,
B PNC
Q
Bp  CQ AR _,
PC QA RB

\EFOHE [ X359 RADEEDIR)

[Endz)

1

(Q.E.D.)



A
S
R
C

B P
Q

SC//RP &0,
RA:SR=QA:CQ,BR:RS=BP:PC

.~ CQ _ SR BP _BR

QA ~ AR’'PC ~ RS
BP CQ AR _ BR SR AR _
PC QA RB RS AR RB

1

(QED.)
\RFOEE (AR DER)

P

/APB = /AQB
\RFEOHE {(HEADEEDIR}

(FEeA]

=1 AOPBOP 1z “HU=AFADT,

ZAPO = ZOAP, ZBPO = ZOBP

17



=“fiosa Lo,
ZAOD = 2/APO, ZBOD = 2/BPO
< /AOB = 2ZAPB

= OPB 12 %I =AF kDT,
/0OPB = ZOBP
=M osa LD

ZAOB =2Z0PB

O

1

=1 QOA,0QB 1Z U =A% DT,
Z0QA = Z0AQ, £0QB = Z0BQ

L3,
=“ABONA LD,

ZO0QA + ZOAQ = /DOA, Z0QB + Z0BQ = /DOB
& /DOA — /DOB = 2 (LOQA — /BQO)
< /AOB = 2/AQB

> T, MIZWEET 2 =MIKICONT, MAMD 2 M585hLATH 5,

18



/APB = 2/A0B, Z/AQB = 2/A0B

& /AQB = Z/APB

D3RI
\RFEOME {(REMAFEOERE}

D
C

A \_/B T
/ADC = ZCBT
\KFEOME {NEMAROFEEDIER}

(N5}
D

AU T

ZAOC =2ZABC
ZAOC =2ZADC

19

(Q.E.D.)



ZZ7t, LABC+ ZADC = 180°

< ZAOC + ZAOC = 180°

\RFOME (EREE)

C
B
S A T
/BAT = /ACB
\KFEDOME {#5XER DR}
| Endiz))
1. $ifDE=E
E
C
I B
S A T

ZfA ACB & ABE IZDOWCTHEADEHE LD,
/ACB = ZAEB
ZIT, = ABE ICDWT
/BEA + /BAE = 90°
£72, AT SO DT /BAE + /BAT = 90° 75,

/BAT = ZAEB
< LZACB = ZBAT

20

(Q.E.D.)



2. HADEE

E
B

S A T
AT 2’H DR 72 DT,

/EAS = 90°

< /EBA = /ZEAS

3. PlifsD L &
C

B
S A T
PO E EORREIRLD,

/BCA = /BAS

¥7z, = ABCIZBWNT
ZABC = ZACB + ZBAC
& LZABC = ZCAT

PeoTHICHNET 3 EMIBICOWTRD LD Z EHEFH I L=,
\KFEDOHE {NBENADZENMR)

21

(Q.E.D.)



/BAP = /PAC, /CAQ = ZQAR D & &,
BP:PC=BQ:QC=AB: AC
\HZDOME {ANSDEEA}

PA-PB=PC-PD
\RFOME {ANEDEEADIIHA}

(3ERR]

MREAOERLD,

ZCAP = /BDP, ZACP = /DBP

=4 ACP & =4 DBP 137z DT,

PA.-PB=PC-PD

\BFOHE {(HNEDOEEB)

22

(Q.E.D.)



PA.-PB=PC-PD
\RFOUE {HANEOEEBOIH)

(EERA]
D
C
p A B
BT ORI & D,

ZCDB = ZCAP, /DBA = ZPCA
=fF ACP & =fJ¢ DPB (3% DT,
PA-PB=PC.-PD

(QE.D.)
\RFOUE {HNEDFEEC)

T

PA - PB = PT?
\RFOME {HREOFEBECHIH}

23



(3ERR]

BXER KD,
ZTBA = /PTA
neg, /P @O TEANY PTA &=/ PBT IFMHEIKD,

PA - PB = PT?

(QED.)
\ExRZER {AAY[]

(a+b)° = a® + 3a2b + 3ab® + b7
\=RRER {AXA}[b]

(a+b)° = a® + 3ab + 3ab® 4 b°
\=RRER {AXB}]]
(a —b)® = a® — 3a2b + 3ab® — b?
\=ERRERM {AXB}[b]

(a —b)* = a® — 3ab + 3ab® — b°
\=RAERH {AHCY[]
(a+b)(a® —ab+b?) = a® + b
\=RZEM (2RO

(a+0b) (a® —ab+b*) = a® +b°
\=XRHER {ARD}]i]
(a—0b) (a® +ab+b?) = a® — b3
\=RHXERHR {AXD}[b]

24



\=XRAR# B {2XB}[i]
a® — b3 = (a—b) (a* + ab+ b?)
\=XRXAKDE {AHKB}[b]

a® —b® = (a—1b) (a® + ab+ b*)

\=RARHA 8 {AKC}]
a3 + 3a2b + 3ab® 4 b3 = (a + b)®
\ SRR [ATCI[D]

a® + 3a?b + 3ab? + b* = (a + b)*

\=RAEHD#E {AXD} ]
a3 — 3a2b + 3ab® — b® = (a — b)*
\=RHXEHD#E {AXD}[b]

a® — 3a®b + 3ab® — b = (a — b)*

\ZIEEE {AH}[]
(a+0b)" =,Coa" + ,Cra" b+ ,Coa™2b* + ..., C,_1ab"~* + ,C, 0"
\ZIEEE {AK}[b]

(a+b)" = ,Coa" + ,Cra" b+ ,Coa™ 20 + ..., Cpy_1ab™ ' + ,,C, 0"

\ZIEER {—MRIE}]
nCra"b"
\ZIEEE {(—E) D]

n—rir
2Cra™™"b

\ZIEEIE {FERR}
(FEEA]

(a+0)" ZEHT 2L, a"b" " ODHOBREIF n D a 225 r il a ZESGAEOBICHEL WO TREZ ,C
FkoT, —MREIE

n—rir
nCra™"b

COric 1 »SHFCAHABZRAL DO “HEME L 2, (Q.E.D.)
\P# {AKA}[]

A C _ AC

B~ D BD
\D# {AFA) D]

A _ C _ AC

BXD*BD

= { BB} i)
. C _AD
D

BC

\

B =+

25



\HE {ARBIb]

A . C _ AD

BT D BC
\S¥Ed {ARCYH)
A B _A+B
C c C
\HER {(ARC)D]

A, B_ A+B
cTo"

\HEINAEEF {0} (i]

a>0 b>0mex, 4tb > /7

\ME1I4EEFS {8 }b]
a>0,b>00DEE,

otb > Vab

\HEInHESET {588}
i)
a+b—2Vab20%mRY,

a+b—2ﬁ=(f—¢5)2
k0, Va— Vb i3FEEEDT,
@f—¢®220

£2TC, a>0,b>0DLE,

OED > ab (FERIAAEE 0 = b)

\EHDESE {EE}

i=+v—1
\EBDES {£5)D]
i=+—1

\ERBOEE {EF}[]
FE#a, bEANT, a+bi

26

(Q.E.D.)



\ERBOESE {E&E}|b|
FHa, b ZHNT,

a+ bi

\=ZRFAEXDEDH5!

D>00tE, Bz " DOERR
ar? +br+c=0, (a#0) DHHRXE D=0 —dac L T3&, { D=0DL %, HR
D<00DEE, Bz DOEHR

ZH0,
\BE & RBOBER {ZRAEXDE & RBOBERAL]
ar® +br+c=0(a#0) DfE%E o, B LT, oz-i-ﬁ:—%
\BE & RBOBER {ZRAEXDE & RBOBERA}D]
ar’ +br+c=0(a #0) DE%E a, B LT,

a+6=—%

\BE & RBDOBR { ZRAERXDE L RBDBERB]]
ar® +br+c=0(a#0) D% a, BELT, af = %

\BE & REDBER {ZRAEXDE & RBDEFB] b
az® +bz+c=0(a#0) DiE%E o, B ELT,

c
off = —
P a

\BE & REBOBR { ZRAERXDE & REDBIRDIEA}i]
(FEER]

ar® +br+c=a(x—a)(z—B)=a{z’—(a+B)z+ab}
(:)ax2+bx+c=a<x2+£x—|—£>
a a

RESE I 25 2 & T,

at+f=-L ap=2

a

(Q.E.D.)

\BE & REDBR {=XRAEXDE L RBDOBERAL]

ard +bx?+cx+d=0(a#0) DfE%E o, B, v LT, a+5+’y:—%
\BE & RBDBR {ZRAERXDE L RBDERAL (D]
ar® +br’> +cx+d=0(a #0) DE%E a, B, yELT,

a+6+7=—%

\R & FREOBR {SRARRDR & FROBEB)(]
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ard + b’ +cx+d=0(a#0) DE%E a, B, yELT, af+By+ya= %
\BE & RBOBER {(ZXRAERXDE & REDOERB} b
ar® +br’ +cx+d=0(a #0) DE%E a, B, yELT,

af + By +ya= <

\E & RBDBR {EXRFERDE ERBDOBERC]H]]

ar® + bz’ +cx+d=0(a#0) DfF% o, B, v LT, afy= _4d
\B & RMOBIR [SRARROR E FROBRC) D] ¢
ar® +bx? +cx+d=0(a#0) DfE%E o, B, vy £ LT,

afy = —%

\R & REOBIR {SRAER DR E FEOBHDIEH) [
E1d5)

a2® +ba? +cotd=a(e—a) (@ - ) ( —7) = a{a® — (a+B+7)a® + (af + By +10)z — aB}
(:)ax3+bx2+cx+d:a<x3+£x2+£x+i)
a a a

RESE I 25 2 & T,

b
atBty=—"2, aBf+py+ra=—, aﬁ7=—%

(QED)
\EIREER (FEAL]
A P()Za—kTHSRZRDIZ P (k)
\RIREE {FEA} D]
BAP)Za—kTHORRDIZ

P (k)

\EREE (TEB)[]
BAP(x) %2 ax — b TH>ZRDIZ P (%)

\EIREE (TEB)[]

AP (x) % ax — b THOZRDIX

b
()
\FIREE {38)
[EERR]
P(z)% (z—k) THlo%2#i% Q(z) 5ED%E RELT,

Pl)=(xz—-k)Q(x)+R
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£oT, &bk

P (k)

(Q.E.D.)
\REEE {FE}i]
BAP () o —kZRBUCRD < P(k)=0
\RBEE {EE}[b]
B P(z) 3w — k ZRBUCFD

< P(k)=0

\REEE {ZEE}
[5ERE]
FEDEHLD, 2 —k THORZRKODB0EDT,

P(k)=0

FARDEHED, P(k) =005 2 P(x) % z—k THoRRDA0 NS ZEEDT, Pa)de—k
% B 0, (QED.)
\SRDEEFE { =SB D) (i

Aler, y1), B, yo) EUT, 5 AB HORMEE, \/(e2 —21)° — (32 — 1)’

\ R DEEAE { =SB [b]

Az, 1), B(za, y2) EUT, #95 AB DR,

\/(xz - 551)2 —(y2 — y1)2

\RDEE {2 =R DEERE ]
A@hyﬂ,BQ%yQELT,ﬁ%AB%nunKWﬁ?%ﬁ@@@u,(MZiz@,n%izw)
\EODEERE [P9%) R DEERZ) [b]

A(x1, y1), Bz, y2) ELT, #95 AB % m : n \CWS 2 15 DR,

(n;vl—l—mxg ny1+my2>
n+m ' n+m

\RDEER {0 R DEEAR DR i
(FE8R]
m:n NI T2HDMEREE P(x, y) LT,

Mm:N=I—2x1:T3—T

PN (nzler:cQ nYy1 +my2)
n+m ' n+m

(Q.E.D.)
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\EDEEE {449 5 DEEAE) [i]

A(z1, y1), B(za, y2) EUT, #99 AB % m : n I3 T 2 RO EEER, ( 7”2 :L:lnxg , _nzll ;F:Zlyz )
\RDEEZE {S7 RDERZ} b
Az, y1), B(xa, y2) EUT, 95 AB % m : n IZH5T 2 ROBEEREI,
( —nx1 +mxs  —NY] + MYz )
m-n m-—n
\RDEE {50 =R DEEZEDFER}i]
\RDEEE {FRDEZ}]
A(z1, y1), B(za, y2) ELT, $5r AB O, (”31 ;@, Y ;W)
\RDEEE {FHRDEERE}b]
A(z1, 11), B(z2, y2) ELT, #95 AB OHAIE,
(:E1+:r2 Y1 +y2)
2 ’ 2
\RDEE {HH R DEEZEDIER}]
[5ERE]
ATEOARICBVY T m=n D& X,
(551 +T2 +y2>
2 ’ 2
(QE.D.)

\RDEERE {EDDEEAZE}i]

A(zy, y1), B(xa, y2), C (3, y3) £ LT, =l ABC OELDMER, ( 21+ 1;)2 Tas Y + y32 + Y )
\RDEEZE {EDDEEE}b]
Az, 1), B(xs, y2), Cl(x3, y3) £ LT, = ABC OELDJERFEIZ,

(561 +a2+ 23 ’ Y1 +y2+y3)
3 3
\ A DS { B0 OEEED )i
|G|
AL B O M ORI (‘”‘1 ;“ 0 ;yQ
FEOECM % 2: 1 CAST 20T, BLOEEZNSEOARLD,

(551 + 22 + 23 ! +y2+y3)
3 3
(Q.E.D.)
\ERDOAER {AHA}]]
ax+by+c=0
\ERDAER {AHKA}[b]

ar+by+c=0

\ERDAER {AHXB}[]
(21, y1) ZHEDHE DS m OERIE, y—y =m (v —121)
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\EROHER {ARB}[b]
)ﬁ (1'1, yl) %ﬁbﬂﬁgb) m @IEJV?C;,

y—y1=m(x—x1)

\EfROARR {ARC)[]

W55 U (21, y1), (w2, y2) BWBEM (01 # 22) 1, y—y1 = 2 (- 1))
\BIRO AR {AC}[b] ’
W22 2 (1, y1), (T2, yo) ZWBERE, (71 # 32) 13X,

. Y2 _
Yy—hn PPa—— (z —21)

\ERDOAER {AXBDFEHA}
(FEER]
fHE m %DT, y=mz+a &ET3 (alFYH),
ZIZT, (21, 4,) ZBEBDT, y1r =may+a kD, #HTZIET

y—y1=m(x—x1)

&3, (QED.)
\ZEROER {RFA}[]
TEM Yy =mix +ny, y = mox + ng DT & my =mg
\ZERDOER {BFA}[b]
TRy = max +ny, Yy = mex + ng DVPAT

< M1 = My

\ZERDOER {AHXB}i]

TEM Yy =miz 4+ n, Y =mex + ng PEE S mymy = —1
\ZERDOBER {AHB}[b]
TIEMR Yy = max + ny, y = mox + ng DATE[A

S mimeg = —1

\ZEMRDOER {AXBOEA}[i]

(GERA]
y=mz; LIZH A, m1), y =mas BIZB(—my, 1) 2 &3,
H(1, 0),1(0, 1) £ LT, AOAH & AOBI iz, £-T,

mimo = -1
(Q.E.D.)
\REBERDOER { A}
_ . lazy + bys + ¢
Mo(21, yo) ETEKE ax + bx + ¢ = 0 DEREREIZ, BV
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\REBERDOIER {0} b
K (21, y2) EEM ax + br + c = 0 DIEREE,

lazi + bys + ¢|
\m & BERROERE {FERF)}
[FFER]
% o BT —x, y WSS —y FATBEITZEE, Bl Zalz+2) +by+y1) +c=0¢&
%5,
e, HMIKFEROPSEBALAREMEDRZREZ HET S, 22T OH MDA d LiEL &,

l.aA0DEE
| OEMOMEE 1L b OIEICK ST, § = g L5,
£oT, HOMEEZ _RXz2H 7325 THoN,

—a(axy +by; +¢) —b(axy +bys +c¢)
a4+ b ’ a4+ b

2 2
(:’d:\l{(_a(aZ;iZgl—’_C)) +{ —b(azé—:_l;z?h-l-c) }}
_ owytbya el
2.a=00D&tZE
ﬁ%ﬁlbiy:—% L B30T,

| byitec

d—‘ by te

by1 + ¢
1]

lazy +by2 +¢
va? + b2
XoT, WTNOHED

iz, a=0Z2fAAL7bDTH S,

laz1 + by2 + |
245, (Q.E.D.)
\FADAER {AH}[]
Hib (a, b) TEEr O, (2 — a)’+(y — b)® =12 £ FET (224192 +Az+By+C =0 (12 +m? — 4n > 0)
DETH KW), b (a, b) THEEr DFI,

(x— )’ + (y—b)> =1”
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£72, M

x2+y2+Ax+By+C:0(A2+32—4C>O)

LuRESND,
\HAoAER (AR}
\HoAe {58}
[ERA)
Motz O, MH LOHEEDEE P(r, y) £ LT, ZPHOERLD

(@—a)’ +(y—b)*=r

(QED.)
\AEER {23
Ma? 492 =2 LD (21, y1) ICBT 2RO, 22, 4+ yyy = r2
\FAEBE#R {2}
M a2 +y? =02 EOM (21, 1) KBTI 2RO R,

zzy +yy =1’

\FJ & g {5E8)
E1d:5)

L 2o #0, yo 20 DE X
A@my@tﬁmf,OA@@?@%Qtﬁéo%ﬁ®@?ﬁzhﬁﬂﬁ&@f,—%Qit%ﬁ@ﬁ
0 0
(.2?0, yo) %J\'EZ) DT

y=—""(z—x0) + 5o
Yo

&0, (zo, yo) B a? +y? =12 LICHEETZZEICHELT, xox+yoy =12 £5455,
2. 20 FO0DEE

Yo = £r X DERIZ y = £r (EARIE)
. yy=0D&LZE

xo = +r XD BRI 2 = +r (EAFE)

£oT, EfRoFERNIZ

TTr1 +Yyyi1 = r?

(Q.E.D.)
\=ABEKOHEERFR {ALA}]]
sin? 6 + cos? 6 =1

\=ABRBOBEERFR {ATLA} D]

sin? 6 + cos?0 =1

\= BRI ER (ARB)[i
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sin 0

tanfd =

cos 0
\=ABEKOHEAERFR {AXB}[b)]

tanfd — sin 6
cos

\=ABEKOHEERR {AHXC}H]]
1+ tan?6 = C0812
\=ABRKOHEEEFR {AKC} b

1
cos? 6

1+ tan?0 =

\=ABRBOBERFR {FH}
(FEER]

KIZHBWT, sinf = %, cosf = % &0

2 2

. +x
sin? 6 + cos? 6 = L 5
,

22T, ZVFHDOEBED 22+ =r2 DT

sin29+c0320:%:1
r

sing =2 cosf=2 tanf=YL kv
T r x

S0 _ Y _ gang
cosf T

sin? @ + cos? 0 = 1 D% cos?§ THZ Z & T,

sin’ @ 1

cos? 6 cos? 6

cow, M0 e noc
cos 0
tan26 4+ 1 = E.D.
antt+ cos? 0 Q )
\=ABRKOEE {(EEA}]
sin (—0) = —sin6

\SABMOWE {HEA)D]

sin (—0) = —siné
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\=BRHOME (BB}

cos (—0) = cos

\=HBEHOME {EB}[b]

cos (—0) = cosd

\=ABEHOME {(HECH]

tan (—6) = —tan 6
\=ABRKOME {HEC}D]

tan (—0) = —tan 6

\=ABEHEOME {(HED}]

sin (§ + ) = —sin @
\=ARBRKOME {HED} b

sin (0 + ) = —sinf

\=ABRKOME {HEE}]]
cos (0 +m) = —cosb
\=ARBKOME {LEE}b]

cos (0 +m) = —cosb

\=ARBKROME {HEF}]]
tan (6 + 7) = tan 6
\=ARBRKOITE {HEF} b

tan (0 4+ m) = tan 6

\SAEROEE (HEG)(]

sin (m — 0) = sin @

\=ABEBOMEE {EEG} b

sin (m — 0) = sin 6

\=BEHOME {HEH}
cos (m —0) = —cos b

\=ARKOME {EEH}b]

cos(m —0) = —cosb

\=ARBKROME {EEI}[]
tan (m — 0) = —tan6
\=ABKROME {EEI}b]

tan (mr — 0) = —tané

\=AEHEOME (MBI}
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sin (% — 9) = cosf

\=ABRKOME {HEI}[b]

sin (% — 0) = cos 6

\=ARKOME {HEK]
cos (% - 9) =sin6

\=ARKOME {EEK} (b

cos (% — 9) =sin6

\=AEROME (HEL)[]
T 1

tan (? B 0) ~ tand
\=AEKOHE {HEEL} b

(5 -0) = g

\=ARKOMEE {EEM}[
sin (9 + %) = cosf

\SABIROEE (HEM)[D)

sin <0 + %) = cos 6

\=ABEKOHEE {EEN}]]
cos (9 + %) = —sinf

\=ARBKOME {£EN}[b]

cos (9+ %) = —sginf
\=ARKOME {HEO}

tan (9 + %) - tailﬂ

\=ABEHOME {EEO0} b

1
tan 6

tan <9+ %) =

\EAEROIMETE {ARA[]

sin (o & ) = sin acos § % cos asin 4

\EABEROIEEE {ARA}[D]

sin (o + ) = sinacos f + cosasin B

\=ABRKOINEERE {RKB}i
cos (a &+ ) = cosacos B F sinasin 3

\=ABROIEEE {AXB)[b]

cos (o + f3) = cosacos 8 F sin asin



\=ABRBOIEERE {AKCH]]
_ tana*tanpf

tan (o & f) = 1 Ftanatan B
\=ABEROINEERE {AHC} b

tan o & tan g3

+p)= ————
tan (o & ) 1 Ftanatan g

\SARIROMEER (3F9)

(FERR]
)
1
Q(cos 3, sin () P(cosa, sina)
o
x
1 Ky 1
-1

RIcBWT, ZMABBOME LD cos (8 — a) = cos (o — B) DT, ZfF QOP 12D\ TRILEM X D
QP?=12+12-2-1-1-cos(a —f)
*72, QP HoEtIcOWTEFHOEHEZ AW T
QP? = (cos 8 — cosa)® + (sina — sin 3)°
&2 —2cos (o — ) = (cos § — cos @)’ + (sina — sin §)°
[ipuEsE 1A
cos (o — ) = cosacos B + sin asin 5

21585,
£72, sin—0 = —sinf £ D,

cos (a+ f3) = cosacos f — sin asin 8

cos (o — ) = cosacos B + sin asin 3
KBVT, a% L —allFHIET,

sin (o + ) = sina cos 8 + cos asin 3
ZZT, B —BICTHILET,

sin (& — ) = sinacos B — cos asin 3
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tanf = sin 0 LD,
cos 0

sin acos 8 + cos asin 3

t +3) =
an (o & f) cos a.cos B F sinasin 3

Mm% cosacos S THB I ET,

tan a & tan 8

t +p)= —————=
an (o ) 1Ftanatan

=135,
\ZABBEKOZEFEADAR {AHXA}]]
sin 2 = 2 sin « cos 3

\SAEROEAOAR {ATALD

sin 2« = 2sinacos 3

\SEBEO—EADAR {ARB}[]

2q —sina

cos 2ae = cos

\EAEMOEBOAR [ARB)[)

cos 2a = cos? a — sin? «

\ZAERO—EADAR [ARCH]
cos2a =2cos? v — 1

\SABROEROAR {ARC)[)

cos2a =2cos?a — 1

\ZAERO_fEAOAR [AXD)[]
cos2a =1 — 2sin® a

\SABEROEROAR {ARD}[b]

cos2a =1 — 2sin® o

\EAEROEAOAR {ARE}]]
2tan o
1—tan? o

\EAEMOEROAR {ARE) D]

tan 2a =

2tan «
tan 2a = 5
1 —tan® «
\SAERO—fEROA {FEH)
| Endifz)|
=MD E B

sin (o + ) = sin acos § + cos asin B

cos (a+ f3) = cosaccos f — sin asin

38
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tan a 4 tan 8
1 —tanatanf

CBNWT, a=8=0%L7T,

tan (a 4 8) =

sin 20 = 2sin 6 cos 6

cos20 = cos? 0 — sin® 0

2tand

tan20 = —="———
an 1—tan26

%'f%[:%o
F7, cos20 = cos? 0 —sin? 0 I2BNWT, ZAEBOMARE sin?0 + cos20 =1 ZHWNWT,
cos20 = 2cos?f — 1

& o820 =1 — 2sin0

2185, (Q.ED.)
\ZAERO=EADAR {ARA}]]
sin3a = —4sin® @ + 3sina

\SABRO=EAOAR [ARALD]

sin3a = —4sin® a + 3sin

\SABMOSEROAR {ARB)[]
cos3a = 4cos® o — 3cos

\SAEBOSHADAR {ARB)[b]

cos3a = 4cos® a — 3cosa
\ZABRO=EEOA {FH)
[5E8B]
=B DI E B

sin (o + ) = sin acos § + cos asin 3

cos (@ + ) = cosacos B — sinasin 5
WZBWT, a=0, 3=20D&LE,

sin 360 = sin 0 cos 20 + cos 0 sin 260

cos 30 = cos 0 cos 20 — sin 6 sin 260

“fEf oA E =MBBOMARR LD,
sin36 = sin @ (1 — 2sin” §) + 2sin 6 cos® 0
= sinf — 2sin®H + 2sin 6 (1 — sin? 9)
= —4sin® @ + 3sin 6
cos 30 = cos 6 (2 cos? ) — 1) — 2sin? 6 cos 6
= 2cos® 6 — cosf — 2 (1 — cos” 0) cos 0

=4cos®0 — 3cosb
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\=ABKOBMNAR {AKA}[]
sin (a + B8) + sin (o — )

sinacos 8 =

\= %@A@FW@T{@TAH}

sin (o + 8) + sin (o — )
2

sinacos 8 =

\=ARKOBEMARX {AHXB}i
cos (o + ) —|— cos (a — f3)

cosacos ff =

\=ABEEOBINAT {ﬁ‘EB}[ ]

cos (a+ ) + cos (. — B)
2

cosacosff =

\ZABRHKOBENAR {AXCH])
cos (a+ ) — cos (a — B)

sinasin § =

\=ABRHOBHNARN {/A\TC}[ ]

cos (a+ B) — cos (a — )
2

sinasin 8 =

\=AEROBMAR {SFH)

[FERA]
=B D Ik E
sin (a + B) =sinacos § + cosasinff ------ @
sin (& — 8) =sinacos 8 — cosasinff -+ ---- ®)
cos (o + f8) = cosacos B —sinasinf ------ ®
cos(a— ) =cosacos B +sinasing .- @
£, ©+@»5

sinacos B = % {sin (a + B) +sin (o — 5)}

Q@+@»5

cosacos B = % {cos (a + ) + cos (o — )}

@-Q»5

sinasin 8 = % {cos (¢ — B) — cos (a + B)}

\ZABRHKOIEBELAR {ATXA}]
sin A + sin B = 2sin A;B cos A;B
\=ARKOMBEAN {AXA} D]

sin A + sin B = 2sin A;B cOS A;B

40
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\=ARKROTEARK {AKXB}[]
A+DB , A-B

11 2

sin A — sin B = 2 cos

\SABEROMEAR {ARB}[b]

A+ B SinAfB

2 2

\ZAEROMBATR {ARC)]]

A+ B cos A;B

sin A — sin B = 2 cos

cos A+ cos B = 2cos

\SABMOTBAR {ARC[H)

cos A + cos B = 2 cos A;B cos A;B

\SABMOTBEAR {ARD} ]

cos A — cos B = —2sin A+ B sin A-B

\SABMOMEAR {ARD}[b]

A+B , A-B

A —cos B = —2si
cos cos sin = 5

\SAEMOMEAR {8}
Eidz)
S ABRORROAR

sina cos B = % {sin (a4 B) +sin (a — B)}
cosacos B = % {cos (a+ B) + cos (o — )}

sinasin 8 = % {cos (o — B) — cos (v + )}

A+ B

EBOT, a+f=A a—f=Bri<ceT, a=42 ,ﬂ:Agfgtﬁ%®ﬁ
sin A + sin B = 2sin A;B coS AEB
sin A — sin B = 2 cos A+ B sin A—B
2 2
cos A + cos B = 2 cos A;B cos A;B
cos A — cos B = —2sin A;B sin AEB

(Q.E.D.)
L%,

\SAEROER {25

asinf +bcosf =+va?+b?sin (0 + ) (727201, sina =
\=ABKDOE {2} b

b a
—, COS(x = —)
Va? + b? Va? + b?

asin@ +bcosf = /a2 + b?sin (0 + ) (7L, sinaz*, cosa =

a
—)
a2 + b2 Va2 + b2
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\=ARBRKDER {FEA}

[EER]
=MD E B
sin (@ 4 8) = sinacos § + cos asin 8 IZDNT,
—% __ —cosa L—sinoz
Vaiw % Vaie
E9BLT,

asin® + bcos = /a? + b? sin (0 + «)
L5, (Q.E.D.)
\BIER OB {AHALY]]
m
a>0F%=m, nPIEOEE, r PIEOAHBDEE, an = Ya™
\EIEHOEH {AHXA} D]
a>0F7%m, n BIEOEY, r PIEOEHED & &,

m

an = fam
\EEROIEH {ARXB)[]

1
a>0FnPIEOBHDEEZ, an = {Ya

\EEROEH {ARB) ]
a>0%7%znBIEOEED L =,
1
an = Ya

\EEMOES (A0 [

a>0, r BEOHHEDE X, g = ai
\EEB DS {ARCY[b]
a>0, r BNIEOHHIOD L =,

1
a ="
a
\IBHCERI { XA L]

a>0%7%, r, s FEHEDEE, a"a® =a" T
\IBHCERI {AFLA} (D)
a>0%%, r, s FEHEEDL E,

\iE¥CER {AHB1i]
a>0%F7%, r, s FEEHOLE, (") =a"*
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\IBHCERI { 2B} [b]
a>0%%, r s FEHEDL E,

(CLT)S — ars

\iE&ER {AXCL]

a>0,b>0%7%, riZEHHEDOLE, (ab)" =a"b"
\iE#ER {AFKC}[b]
a>0,b>0F7%, rFEHEDEE,

(ab)" =a"b"

\EEEEA {AHD} ]

a>0%7%, r, s FEHEKD L X, Z—Z =q""
\FEHER {AHD}b]
a>0%7%, r, s TEHEED L E,

\$EHCRE {ARE)[]
a>0,b>0%7%, r XKL X, quzﬂf

\JSHOKE {ARE} ]

a>0,b>0%7%, ridGHEDLEE,

(5) =4
\NHBDEE {EE}]
a>0,b>0%F7%, r sFEHEHEETS,
a? = M 75513, log, M, log, Mlog, M 725X, a? = M
a>0,b>0%7%, r, s FEHEETS,
a? = M 7251, log, M
log, M 7% 51%, a? = M
\NEOMHE {AFKA}]
a>0,a#1&335LE, log,a=1
\WHDOUE {AFKA}[b]
>0, atl1ETBEx,

log,a=1

\NEDOHE {AXB}i]
a>0,a#1E335EE, log,1=0

\NEDOME {AHXB}[b]

a>0,a#£1ET5LE,

log,1=0

43



\HHDOWE {ARCL]
a>0,at1Ed3E%, 1oga%:—1

\HEDOWE {ARKC)HD]

a>0,a#£1&T5LE,

1 e
logazf 1
\EDOHEE {AXD}i]
a>0,a#1, M>0, N>0&9%&&, log, MN =log, M + log, N
\NEDOHE {AXD}[b]
a>0,a#1, M>0, N>0&953LE,

log, MN =log, M +log, N

B [ARE)[]
a>0,a#1, M>0, N>0&32E %, loga%zlogaM—logaN

\HEOEE [AKE)[D)

a>0,a#21, M>0, N>0&95LE,

log,, % =log, M —log, N

\NEDOMEE {ARKF}]

a>0,a#1, M>0, N>0&92&Z, log, M*¥ = klog, M
\NEDHEE {ARKF}[b]
a>0,a#1, M>0, N>0&953LE,

log, M* = klog, M

\NEDOME {FEHA}

(EEER]
p=log, M, ¢g=1log, N &L T,
MN = aPa? F8EGERI KL D

MN = gPt4
ZZT, WEDEHRKLD

log, MN =p+q

& log, MN =log, M + log, N

p=log, M, g=1log, N £LT,

M _ aP

N — ¢

44



RBIEAI LD
M _ p-q

N
ZIT, NBEDOELRLD

log, 2L = p — ¢
N

< log, % =log, M —log, N

p=log, M &LT, a? =M KDk FL T
aPt = M*
RIS &
pkzlogaMk
p=log, M XD,

log, M* = klog, M

\EOZHAR {AR)[1]

a, b, cIFIEDEKT, a#1, b#1, c£1DEE, log, b=

\EDZBARK {2} [b]
a, b, clZIEOFEHT, a#1, b#£1, c£1DEE,

log. b
log.a
\EDQZHRAT {58}
[Endz)
HBDEZELD al%8b = b BT,
JES ¢ DNEZILS &,

log, b=

a

log, a'°®=® = log, b
NEOWE KD,
log, blog.a =log, b

£oT,

log,. b
lOga b= @

\ERBDER {E&F]]
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log, b

log.a

(Q.E.D.)

(Q.E.D.)



e — i d @ h) = f(x)
J'(w) = lim h
\EERDOER {EE} ]

h—0 h

\ N E R IR {AFA ]

n—1

(™) = nx

\NE BB EREROEES {ARA)H)

(x”)/ =na" !

\ N E R EREROEEH {ARBL]
(c) =0
\NEFEREH & EREHROER {2 B}[b)

(c) =0

\NE FEREHRE EREROSEM {FEA}
| Endifz))!
HEBOERLD,

(xn)’zzlhn_ﬁﬁlj;ﬁlggifl,
h—0

CIHEBLD,

O C ) et 4
(z") = Jim, h
= lim nCoIn + "Clxnilh’ + n02$n72h2 + e nOn—lil:hnil + ncnhn — "
=0 n
= lim (,C12" ' + ,Coz™ 2h+ -+ + ,Crgzh™ 2 + ,C,h" 1)
h—0
= lim {n01$n_1 + (nC23;"—2 4oy Crqzh™ 3 + nCnhn—Q) h}
h—0

n—1
= n,Clz

=na"!

(QED.)
\EEROME {ARAL]]
kf (x) = kf (z)
\EEROME [ARAD]

kf () =kf' (x)

\EEIB DI {ARB)i
fla)£g(@) =f () £g (2)
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\EEHOME {AXB}[b]
f@)£g(@) =f(2) =4 (2)
\EEHDOME {AKC}H]]
kf(z)+1g(x) = kf (x) +1g (x)
\EEHOME {AHC}[b]
kf(z)+1g(x) = kf (x) +1g (x)
\EROAER {2}
My = f (x) LD (a, f(a)) BT ZMHEOERMOTTENE, v— f(a) = f'(z) (z—a)
\EROAER {2} [b]
Hifty = f(z) EDR (a, f(a) ICBTZHifROBERO R,
y—f(a)=f"(2)(z—a)

\FEBDDESE {E&F}

F'(z)=f(z) D&%, [f(z)de=F(z)+ C(CIEWIEE)
\REBDDERE {E&} D]
F'(z)=f(z) DEE,

/f(x)dm:F(a:)+C

(C RS ERL)
\NEREROTEES {230}
[ andz = %_i_lw’”rl +C (C R ER)

\NEREBROAREED {A}[b]

/ phdr = — L gt L O (O R
n+1

1 ]/kf(x)dx:
k:/f(x)dm

/kf(x)dx:k/f(x)dx
1 ]

/kf(x)d:c:k/f(x)dx

/kf(x)dx:k/f(m)dx

/f(x)dxi/g(x)dx

1 }/f(rf)ig(w)
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[1@g@iz= [ f@ars [ 9@
1 ]

[t@s@iz= [ f@ars [g@i

[t@s@iz= [ f@ars [g@i

| ]/kf(x)+lg(:

k:/f(x)dm-i—l/g(x)

/kf(:z:)+lg(a:)d:c:k/f(x)derl/g(x)
1 ]

/kf(x)+lg(x)dx:k/f(x)d:v+l/g(m)

/kf(x)+lg(x)dx:k/f(x)dx+l/g(x)

\EBERDOER {E&}]
ity = f(z) & z Bl (XEE a 225 b) CHENLZTTOEM S I2OWT, F'(z) = f(z) DEE,
S= [ f (@)de=[F (@)}, = F () - F(a)
\EBDDEE {EFE} D]
Bty = f(z) & o @ih (XHE e 225 b) ICHENZZLIOMER S I2OWT, F/(z) = f(z) DEE,

= ‘ i xXr = .Tb: — a
S—/bf()d [F (2)]t = F (b) - F (a)

\ERBADIE {ARAL]]
[ kf(x)de =k [ f(z)da
\ERH OWE {ARALD]

/bakf(x)dx:k/baf(x)dx

\EBSOME {ARB)[]
Jo @) £ g(@)de = [ f(x)de £ [, g(z)da
\EBSOME {ARB}[b]

[ t@ss@an= [ jwaes [y

\EBSOUE {ARC)]
Jo f@)de=0
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\EBEDDUE {XHC}[b]

/af(x)dx:

\EES ®ﬁ§{ﬁTDH]

fb dx——ff
\EF% ﬁﬁ{@TDH]

Llaf@ﬂdx:—ilbfﬁﬂdx

\ﬁﬁﬁ@ﬁ%{ﬁTEH]
Jif@)de = [7 f(@)de+ [ f (x)do
\EF%@& {AHE} ]

[f@m:[}mw+lv@“

\RY MLOEE {AFA}]

b, IFEROEE, G+b=b+a
\RT MLDER {AFHA}(b]
k, | BXEHD &=

i+b=b+ad

\RZ N LDEE [ARBY]]
hZﬁ%ﬁ@a%,(a+®+5:a+(a+®
\RY N LOEE [ARB)[b]

k, | DEBD & =

(@+5) +e=a+(5+2)
\RT M LDEE {ARCH]

@+ (ad) =0
\RY M LDEE {(BHC}H[b]

@+ (ad) =0
\RT MLDER {ARD}i]
i+0=ad
\RY M LDER {ARHD}[b]

it0=a

AE}[i]

/

\‘r
@17-
@l 8
/‘\:hﬂg
@.1,_»\_,
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\RY M LDER {(AHE} D]

(9

\RY b ILOEE {REF ]

i—b=

Q

ke, | VDL F, k(la)fl(kl;)

\RT MLDEE {ARF}b]
k, | D390 & %

k(i) =1 (kD)

\RZ M LDEE {AHGi]

by, IO EE, (k+1)d=kd+1d

\R7 MLOEE {RHG[b]
k, | B & =

(k+1)d = ki + la

\RY ML OESE {(AFH) (1]
Easgor s, k(ivh) =k

\RY M LOES {RFH]}(b]

kPFEBOEE

Ql

=

k<d+b):k6+k¢5

\RZ MLOEE {ARI]
AB + BC = AC

\ T MLDEE (AT} D]
AB + BC = AC

\RT M LOESE {AHI}[i]
OA-0B=BA
\RY ML DESE (BRI} [b]

OA—0B = B4

VXY b L ORE {ARK)]]
AA=0
\RT M LDEE {AHK}[b]

=
jen]

-

)

a

it
im

15

{BAL}]

Lo
AL

Sl
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\RY ML DESE (AL} D]
BA= 4B

\FERY ~LOSE {AT) ]

G#£0,b£07T, @& bBTATTARNWEE, FED FIEEESEBDIC, §=si+th DBICERELEND,
\FERY N DS {AR[b]
G#£0,b£07T, @& bWPHFTANEE, EBD FIEAEZSEDIZ,

P=sd+th

DHIcRESNS,
\FEARY MLORES {ARAY]]
= (a1, as), b= (b1, bs) ETBE, G=b< a; =by, ap = by
\FEARY MLORES {AFKAY[b]
@= (a1, ay), b= (b1, by) EF2&, @a=0b

S ar =b1, ag =by

\FEARY MLORES {ARBY[i]
a=(a1, az), b=(by, bo) EFTBE, a1 =by, ay=bo S a=5b

\FEAY MLORES {ARKB[b]

a= (a1, az), b= (b, ba) ET3&, a1 = by, ay = by

Sd=b

\FENY MILDED {AFKC}H]]

a= (a1, ag) T2 &, |@ =/a] +a3
\FEINY MLDOES {AFC}b]
a= (a1, az) £ET5&,

jal = \/ai + a3

\TFEARY MLORES {ARD]
@ = (a1, aa), b = (by, b)) £, k, | ZEKELT, ki +1b = k(ar, ag) + (b1, by) =
(kay +1by, kag + 1by)
\FEANY MLORES {ARKDY[b]
a= (a1, ag), b= (b1, bo) 72, k, | #FEHELT,

k‘@-Flgz k(al, CLQ) +l(b1, bg) = (lml +lb1, kag +lb2)

\RY R LDES ERES [ARAL]
Alar, as), B(bi, b)) £F2E, AB = (b — a1, by — as)

\RY N LORS ERES [AFHA)[D]

Alar, az), B(by, b)) T3 &,

zﬁ: (bl—al, bz—ag)
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\RY R LOESEXRES (ARB)[]
Aar, az), Bby, by) E352, [AB| = Vb — ) + (b2 — a2)?

\RY R LOBSEAES (ASB)[H]

Alay, a2), B(by, by) ET 32L&,

‘E‘ = \/(bl —a1)? + (by — az)?

N7 MDD EREE {FEAR}
(RERR]
=P OEMED,

’1@‘ = \/(bl — 111)2 + (by — a2)2

(Q.E.D.)
\FERY M LORE (AR ]]
RZ7 P VONEHE, @-b=|d)|blcosf (0° < 0 < 180°) (72721, 012 a & bDATH
\EEANY MLORE {Az)[b]
K7 B VDO

G- b=|a|lblcosf (0° < 0 <180°) (7L, OlFa & bpidfi

\WFG)IEE (AFRAL]
b=b-d
\WFO)'IE (A3RA} ]

a-b=b-a

\RBEOHE {ATB1
(Ei + b) =a-é+b-¢
\REDHEE {AHXB}[b]

oL

(5+5)-5=a'-5+5.

\V\]FEUJE {AHKC}]]
. <b+c) —G@-c4+b-C
\Wfﬁ@’l’fg {AHC}b]

Ql

g. (6+5) —G-e+5b-
\PI DR {ARD)[]
kDEROEE, (ki) b=a- (kE) —k (5.5)
\REDMHEE {AHXD}[b]
kEDFEHD L E,

(k@) -b=1a- (k;5> :k(a’-B)
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\RNEOHE {AAE}]
i-d=|a’

\REDOHE {AXE}[b]

i-da=la’
\REDHE {ARF}[i]
@ =Va-a
\PREDOHE {ARF}[b]
@ =Va-a
\FENT SILOFATRE {FH}]
a#0, b#0%7, kizFEKET 3,
@//b<b=kad, b=ki
\FENYT MLOFTES (&} [b]
G40, b#0 %%, kIZFERETS,
a/lb

o b=ka

\FEARY ML OEBERME (£ ]]
G#0, b#0 %7, kIZERET 3,
ilbedb=0

\FEARY ML OEBERME (R4} D]

a#£0, b£0%7%, kZFERET3,
alb

&d-b=0

\IEAY B L {ARAL])

A@LB(@&?%,ﬁ%AB%nuntWﬁT%ﬁ&

\IBAY ML {ARAL[D]
JMQ,BGatﬁé,ﬁﬁAB%nunKW%T%ﬁ&

nd + mb

m-+n
\RIBARY ML {ARAL]]
(EEHR]
P@b%ﬂ@,B@ﬁ%nunmmﬁﬁ5aé
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nd +mb

m-4+n



(QED.)
\RIEANRZ bL {AHB}]] )
@), B(b) £33, M9 AB % m:n sy 5y, —dtmb
\RZBAR Y ML {RHB}[b]
A(a), B (5) LT3, 859 AB # m : n IS 551,

—nd@ + mb
m—-n
\BIBARY ML (ADEOEEAY N LD ]
E1d5) )
men A ENS CEEm: —n KNS E NS C EsoT, —natmb (QED.)

m—-n

\ZEBENRY ML {ARKC}Hi]

A@@), B(E) 3%, 5 AB O, ‘7;
\BAY R L {ARCHb]
A(@), B(B) LT3, B9 AB O,

b

a+b
2
\EAY KL {ARDY] )
A@), B(B), C(@ =35, =“filb ABC M, w
\BIEAY KL {ARD) ]
A(a), B(z?), C(e) &5, =fah ABC OELIZ,

a+b+é
3
\RY R LARE {AFAL]
s, tEFRET D, HA@) REBD, dICFRARERE, F=ada+tb
\RZ R LARE {AFA}D]
s, t #FRET S, 5 A@) REBD, dICEAAERIE,

F=a+th

\RY R LA {ARBY[]
s, t RFEHET S, A, B(E) BMBERE, =1 —t)@+1th, p=ad+tb (27L, s+t=1)

\RZ R LA {ARB}[b]

s, t RFBET S, I A®), B(z}) 3 % ERE,

P=(0—t)a+th, p=aid+th (ZFEL, s+t=1)

\RT M LA {ARCH]
A @) &Y, 7 ICEEALR FICONT, i (F-a) =
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\RY MLARR {ARC}D]
MA@ 2D, 7IC\ELERFICONT,

i (F—ad) =0

\RY M LAERR {ARDY]
il O (3), W r oM, |F—a=r (G- F—27) =1

\RZ M LAER {ARD}[b]

il C(3), 88 r O,

p-d=r
-3 (5-3) =1
\EEH5 {—RIE}[]
W ay, REJIDEE, ap=a1+ (n—1)d

\EE¥5 {—MRIE} D]
%]JIE ai, (&% d @& 3,

ap=a1+ (n—1)d

\FEHT {0} ]
g _n (a1 + an)

2
\EEHF (B0} [b]

n(ay + an)

Sp = 5

\FEHT {GH}
(FERR]

Sp=a1+ (a1 +d)+ (a1 +2d)+---+{a1 + (n—1)d}

Sp={a1+(n—-1)d}+---+ a1+ (a1 + d) + (a1 + 2d)

HVLLT, 2S5 = (a1 +an)n &0,

S, = w (QE.D.)
\FHEF {—MIA}]
a, = ar" !

\ZH#5 {—HIE) [b]

an = ar™ !

\EHHF (B

_a(l=r") a (" =1)
rElOLE, S, =~ bLE

r=10&%&, S, =na
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\ZHHE) (71} [b)

r£l1DEE,
ap (1 —r™)
Sn = 1—r
H LI,
s, = ay (r" —1)
r—1
r=10D¢%&&,
S, = nay

\Z Ho#5 {068}
&)

2 ~1
Sp=a1+ra+r°a1+--+7"" a1

Spr = ra; +r2as +rla; + -+ 1"

HWATBZET, S(I—r)=a; —r"ay &7 5,
X2,

g_ ap (1 —r™)
1—r

kr, ST ERPUBIET,
ap (r" —1)

§= r—1

MEXD,

g ai (1—7")  a;(r"—1)

1—1r r—1

\ VI RDAH {(BHAL]]

el kICHBIfRR & &, Z c=nc
k=1
\YIYDR {BAHA}D]

c\F kICHERfRZ & &,
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\ VI RDAT {ARKB}D]

Zn:k n(n+1)

k=1
\97‘7@’&”@ {2HC}]

Zk2 n(n+1)(2n+1)
\*/7 VUJ’A\Et {2HC}[b]

zn:k?: %n(n+1)(2n+1)

k=1

\/7 N DA {AHD}]i]
Zk3 { (n+1)
\*/77034_\\Et {AHKD}[b]

k=1
\*/7“7@/&% {BAHE}H]]
Zkl I=r") -1
T o1l—r r=1
\/77®/A\T {AKE}Db]

2

irk—1: (1=r") _ -1
1—7r r—1
k=1
\¥ DN (G}
[5EAR)
(k+1)% =k +3k2+ 3k +1 23,

k+1)° -k =324+ 3k+1D kIC125 n ETOHRKERALZLDERLZHDIE

(n+1) —1—3§:W+3§:k—47 (n+1)+

2_ 1
@Zk = 6n(n+1)(2n+1)
L3,
\Y I OHEE {EE}i]
p, q 73k ICIRBIR A ERD & &, Z (pax + qbx) pzak+qzak
P -

k=1
\S T Y DIE {(HE])b]
p, q 7 k ICIEBIR 2 EH D & &,

n n n
> (par+abe) =pY ar+aqy_ a
k=1 k=1 k=1

o7

(Q.E.D.)



\PEEET {—MRIE} (]
n—1

B a, ODBEERONE by, ETBE, 25nDEE, an=a1+ Y b

k=1
\BEE 5 {—fE) [b]
B a, DBEERIN% b, ETBE, 2<nDEE,

n—1
a, =ai + Z bi
k=1

\Enb= {FEEL]

pt1 =ap +dDEZF, a, =a1+ (n—1)d
\VETb {F=EE} b
pni1=an +dDEE,

an=a1+(n—-1)d

b= {ZFHEEL ]

pi1 =10, DEZE, ap = aqr
\ETEE {FLE b
Opt1 =Tan DEZE,

n—1

an = a;r™ !

\#i{E=t {FEZER L]

n—1

pt1 —ap = f(n) DEE, a1—|—Zf(k;) 7=7ZL, 25 n
k=1

\Hifb {BEER)[b] -
Gpt1 —ap = f(n) DEZE,

n—1

ar+ Y f(k) (EL, 2<n)
k=1

EHER (AR}
Uni1 =Ppan +q(p#0, ¢#0) DEE, a1 —c=pla, —c) EEBLTHEEMZ (2L, c=pc+q
Zii7=9),
\EHER {FHEAER} D]
Ant1 =pan +q(p#0, ¢#0) DEE,

ant1 —c=p(an —c)

EEWL TEREANC (7L, c=pc+qZid),
\EFIENE

HAB n BT 268 P 22 TOHAE n IZOWTHILT 3 2 & 2FWT2I21E, n=1D& ZFIZ PO
VITBIEE, n=kDLELXPBEITEENSIREDDE, n=k+ 17T 5L EFAHT 3,
\HARERY {(E&}]

a=a+biDEE, MELEFB A Za—bi
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\HERERK (EE} (D]

a=a+biDEE, HELEEK X
a—bi

\HEBERE {(HEAL]]

2 DFEBDD, z=276IF, z WEHK,
\HEBRERK {EEA}D]
2 BFEEDPD, z2=27%6I1F, 2 PEH,
\HEBRERHK {LEB}]

2 PHEB RS, 2=—2, 240
\HERERK {]$ 5B}[b]
z IR 513

zZ=-z 2#0

\HEZERE {HEECH]]
Z=—z, 2 #0%5%, 2z HEE,
\HEEREK {HEEC}H Db

zZ=-2z 2#0

%51, 2 BB
\HRERB {MHED}]
a+f=a+p
\HERERE {EED}[b]

at+B=a+p

\HERERHK {(HEE}[)
a—f=a—-§
\HZERE {EEE}b]

a—f=a-7

\EEERE (B[]
af =ap
\HEBERE {EEF)[b]

aB =ap
\EEERE {(HEBEGY]

59



\ & EREK {FLHA}
[ZERA]
a=a+bi, B=c+di (a, be, dIEFFEE»PDa#£0, c#£0) LT,

(QED.)
\EREDOEIE {EF}]
BFEH 2z =a+bi ICNUT, |z| = |a+bi| = VaZ + b2
\ERBDIENE {EFE} b
BEB 2z =a+bi ICNLT,

2| = la+bi] = Va? + b2
\ERMOMEIHE (HEA} ]

2| = |2 = |—=|

\EEROERHE {HEEA)[b]

|2l = 2] = |-

\ERBOERE (BB}

?|

zE:’z

\EEROERHE {EB}[b]

2z = ‘22|
\BZR {EE}H]
WEH a=a+bil2DOVT, a=r7(cosh+isingd) (2L 2>0) £/, r =|a| = Va2 + b2, cosf =
L sing = L afipRz s,
\BRZH {E&E} D]
HEH o =a+bi lZONVT,

a=r(cosf+isinf) (772U z>0)

£7%, r=lal =+va?+b?, cosl = %, sinf = % R E VWS,
\BRER {EEA}]
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a, B, vyEEZERET S, a=r1(cosby +isindy), B =ry(cosly +isinby) D& X,
af =rirg{cos (01 + 63) +isin (61 + 02)}

\f@fz= {EEA}[Db]

a, B, yEEFRET S, a=r1(cosf +isindy), B=ry(coshy +isinby) D& X,

afl = rirg {cos (01 + 03) +isin (61 + 62)}

\fBz {EEB}]
a, B, yEEZERET S, a=r1(cosby +isindy), B =ry(cosly +isinby) D& X,
% = % {cos (01 + 0) + isin (6, + 62)}
\BER {EEB}[b]
B, v 2EFEHRE T3, a=ri(cosh +isinby), §=ry(cosly +isinfy) D& X,

a,

L — 0 £eos (01 + 02) + isin (0, + 62)}
g T2

\RA {E&}]
BFEH a=a+bilZD0T, a=r(cosh+isinf)
72720 2>008E 0 ZFMEV, auga TET,
\lRA {E&}Db]
BHFEH a=a+bilONT,

a =1 (cosf +isinf)
ZREL2>00EF 0 ZHAE O,
augo
T&RI,
\BA {EEAL]]
a, B, vy ZEFERET S, a=r1(costy +isinbdy), B =ry(cosby +isinfy) D& E, 0 = arga 7z,
arga = 01 + 2nm (n 1ZFEE)
\IR& {EEA}[b]
a, B, yEEFRE TS, a=r1(cosb) +isindy), B =ry(cosfy+isinby) D& X,

0, = 61 + 2nm = arga

(n IXEEH)
\lRA {EB}]
a, B, yEEFZRET S, a=ri(cosf +isinby), B =ry(cosly +isinfy) D& E, argzize = argz; +
argzy
\lRA {EB}b]
a, B, yEEFRET S, a=ri(cosf +isindy), B=ry(cosly+isinby) D& X,

argzizo = argz) + argzo
\RA {EEC}]
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a, B, v EEERET S, a=ri(cosb +isindy), B =ry(cosby +isindy) D& X, arg% = argz; —
2

argzo
\lRA {EEC}b]
a, B, yEEFRET S, a=r1(cosf +isindy), B=ry(coshy +isinby) D& X,

z
arg—L = argz; — argz,
22

\REZ 7L DEE {AH}i]

n PBEDLE, (cosh+isinh)" = cosnb + isinnd
\REFZTILDOER {AH}[b]
n PERD L X,

(cos@ +isinf)" = cosnf + isinnb
\REFZ7ILDER {;EH}
(FEEA]
[ES ¢

a1 =711 (cosby +isinfy), ag =ry(cosby +isinby)...a, =1, (cosl, +isinb,)
KRLT, ciag---a, 2822 L, ZABKOBEMOARXD2 5

Qg =11 {cos (01 + 02+ -+ 0,) +isin(0y + 0+ +6,)}
Ekb, T, ap=ag=--=a, DEZX,

a" =71"(cosf +isinfh)" = r" (cosnf + isinnd)

& (cosf +isinf)" = cosnf + i sinnd

215, (QED.)
\ KR (EE)(

TP (f600) & F 25RO | () 2553 & =, 165 5 46 5 0 BEBED FIHS—E 7 5 OBk,
\BeiR ()]
FHEF () & F 26 AOVER | () 2552 & =2, 58855 6 OHBEORIS—E 5 1 OBk,

\IAPAR {EE A}
Rk E 2 = dpx EREEND,
\IADHR {IEEA}[b]

&L i3k
v =dpx
LtEREGND,

\ B {MEEB) [

BB SE F (p, 0)
\ B (1B B} [b]
OGO 1

F(p, 0)
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\IBIHR {EB C}i]
RO HER T © = —p

\ DR {EE C}b]

TR D HERR I

T=—p

\EA {E&}[i]

OO F & F 5 OO E 7 s DL,
\t&M {E&E}[b]
ZOOHERF & F S OFEED D —E 7 5 DELR,
\1&M {HEEA}[]

s 2 Y1 s g sn,
\#EMA {EEA}b]
R

22y
R
LERESNS,

\t&M {HEB}[

\fEF {#:EB}[b]
D A

F (\/a2 2, 0) F (\/a2 2, 0)

\1&M {HEEC}]]

FEMD DD N0 5 DIHEEDOANE 20 TH 3,
\1&M {HEC}[b]
D =D DHE D & OO R

2a

\ it (£}
COQMEE F L F 6 QRN 0 T < —E R HOWH,
\TREEHR {28 [b]
COQMEEF & P 25 QRBEDHEN 0 T < 27 HOWE,
\REHR (A
e ]
\TREEHR {HETA) D)

B AR 1%
1'2 y2
a? b? 1
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LEESND,
\TRehfs {MEEBY[i]

WO R F (Va2 + 0%, 0) &, F' (Va2 +12, 0)
\ AR {MEEB}[b]

BUHIER D FE S
p‘(\/Efifgi o)<F’(\/E5§fEi 0)

\ e {HEEC ]
WHIFRD D DE D S DIEEED 21X 2a
\ERAR {HEEC)[b]

2a

\ IR {MED) ]
W omgz L - Y -0, L+ Y —9

a b a b
\ e {MEED}[b]
B HH AR D W AR X
xr Y _ xr Y _
PR e

\ERTR B { AT}

RO ¢ Dffi o IZBIL T, lim fx)=f(a) DEE, f(x) Xz =a THlii,
\ERRBEE {AF}[b]

ERIBD « D a ITBHL T,
lim f(z) = f(a)

DEE, f(v)Fx=a THH
\FREMEDERE {AH}i]

FAXH [a, b] THEFEABIE f () 1I2DWT, f(a)# f(b) DEE, f(a) & f(b) DEDITEREDFIEE K IO
T, (o) =k EBB P BPET DFET 5,
\FRHED IR {47} [b)
PAXIH [a, b] THlfEZRBIE f (2) I2DWT, f(a) # f(b) DEE, f(a) & f(b) DEDERDER Kk IZDONT,
fle)=k
ERD PP RIPETDHFET D,
\THEOEE (AR}
S () AP o, b] C38E, DODCH (o, ) syt o, LI pgacecn) 2
Wi T ¢ BFET B,
\FEOERE {43
BE%L f () DSBAXIE [a, b] THElE, BAXM (a, b) TR TIHEZR 51,

lﬁ%}%ﬁl:fwﬂa<c<m
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il d c DFET S,
\ta {E&E}]
f’(ac) :Flbli% f([E*I»h]sz(l’)

\# {E#}[b]

P )=t L& 1@
\#D {BOMA AT} [{]
(@@} =f @) 9@ +f@)g @
\#D {BOMDRT}[b]

{f(@)g (@)} = f (2)g(2) + f ()¢ (2)

\ S (EOMAATY ]
{ [ (x) }' _ '@y @)~ f(z)g (2)

g(x) {g(2)}
\#9 {BOMB AT [b]

{ f (%) }/ _ S@)gx) - f@)g ()
g(x) {g(2)}?

\ B [SREROMA ]
{Flg@)}Y =f(9(x)d (z)
\ B [EREROBH D]

{flg@)} =1 (9@@)g (2)

\ B9 (DEBEROBHARAL]
() =0
\ B9 (DEEROBHARA)D)

(¢) =0

\7 {FIERBDOMANTBH]]
(ma)/ = ax® ! (a TZFEEK)
\ {IEREBDMAILNIB} b

(wa)' =az®!

a BFEH\BR {(DEEREDOHDARIHCH]]
(sinz) = cosx

\ B9 (DEBEHOBHARC)D)

(sinz)’ = cosx

\ B9 (DEBEHOBHARD]

(cosz) = —sinx




\ B9 (DEEROBHARD) D]

(cosz) = —sinx

\# (DEEROBHARE ]

(tanz) = —
cos®

\ B (DEBERHOBHARE} D]

(tanz) = 12
cos®

\Bi5 (NEBROBMA AR} []
(togz])’ = =

\ WS (ZEBOMH AR} [b]

1
1 [
(logla])’ =

\ B9 (DEEEROBHARGH]]

(log, |al) = —1
ga
\ B9 (DEEHOBH ARG D]

r_ 1
zloga

\ B9 (DEEROBHATH)[]

(log, [])

(&) = e

\ B9 (DEEHOBHARH) )

() = e

\ B2 {PFEHDOHMA NI}
(a®) = a*loga

\#9 {DEEROBH AR [b)

(a®) = a®loga

\ B9 {SABEBROBH ARO[

[Endz)
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sin (x + h) —sinz

(sin a:)l = lim

h—0 h
— lim sinx cosh + cosxsinx — sinx
h—0 h

— lim (cosx sinh . 1—cosx 1+cosh)
h—0 h h 14 cosh

. .2
= lim cosa:smh —sinx; Sinl hh
h—0 h 14+cosh hR2

:cosx~1—sinx~%12~0

= COSXT

(cosz) = {sin (% — a:) }/

= cos (% — ;1:) - (=1)

= —sinx

\#D {NHBIRDHD R DI} i
(FEER]

log (z + h) — logx

logz) = li
(log x) Lim

—0 h
log (1 + %)
=lim ———~
h—0 h

cool i eBE, h=te 25D limt =040,
x h—0
. log(1+1)
1 ' = —_—
N
:hm{log(lth) .1}
h—0 t T
1 1
— lim log (1 t .1
A
:loge-l
x
_1
x

fx)=¢" £BL,

, ew-i—h —eT
(e¥) = lim
h—0 h
h
= ¢” lim £ 1
h—0
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22T (logz) = % kD, y=logz Dz =1 IZBVWTOERDOEEIE 1 THD, y=logz & y=e*F
Y=z BV THHRTHZ2DTy=e*Dax=0ICBVTOERDOEZD 1 DT,

h
/ . e —1
Fom =t
£oT
z\/ _ x 1: eh 1
)=
=e”.1

(QED.)
\EROAER {AF}[]
fift y = f (x) LOK (a, f(a) ITBTZHMBOEROSTHEAZ, yv— f(a) = f'(z)(z—a)
\EROAERX {2} [b]
Bty = f (z) LD (a, f(a)) BT 2 HBEOEHRO AL,

y—fla)=f'(2)(z—a)
VERDAER {2K}]
Hi#R f () B A(a, f(a) KBTI 2EROGENZ, y— f(a) = ——F—

VERDARER {2} [b]
HIFR f (z) EDRA(a, f(a)) I8 2EROHRER,

=1 _(@-a
y_f(a)_ f’(a)( )

\PEED {EF}[]

F'(z)=f(z) LT3, /f(x)dx =F (z) + C (C 3T ER)
\TREBD {EFE}[b]
F'(2) = f(z) £ 5L,

(C RS

\FEED {BBRED ]
[1@do= [ 1a)g ®dt (=g 0) it

\FEED {EEIED b

/f@ﬂw=/f@@»d®ﬁ
(x = g (1) I TitHR)
\REED {BBATED }Hi]
/f@M%ﬂM:f@M@ﬂf/f@w@ﬂ
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\PNEBED {FBAED}[b]

/f(w)g’(w)dm=f(m)g(w)—/f’(w)g(w)

RERES (DZREMOBEAARA[
C@%ﬁ%ﬁtﬁéo/x%x:———
RERS (EEMOBEAAA} D]

C I ERET S,

@ _ 1 a+1
/ac d$—7a+1x +C

\REMS (DEBROBAARB)[]
C@%ﬁ%ﬁt?éo/%jx:bmﬂ+0
\FERS (DEBROBASARB}[b]

C BEMAERET 2,
/ Lge = log || +C
x

\TNEED {FZEEROEIANRCEHI]
C T ERET S, /sinxd:v =—cosz+C
\FEED {(IEEBOBEINHNC} Db

ClFETERET S,
/sinxd:r = —cosx + C

\TEED {(FEBHOBEIANRDL ]
C BT ERET S, /cos:z:da: =sinz + C
\FEED {FIEREBOEBEINXD}[b]

ClEETEHRET S,
/cosxdx =sinz +C

\REWS (EEEOBAARE [
C@%%ﬁ%?%ﬁ/&mZﬁ+C
\REES (MEEMOESARE) ]

ClEHEDEHRET S,
/ezdaj ="+ C
\FEED {(ERBOBEI NI }]]

C@%%ﬁu?%ﬁ/JM: a
loga

x

+C
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\REBS (DZBROBHARF)[b]
C I ERET S,

/azdxz l(sga +C
\EED {E&}]
MWty = f(z) & z @ (& a 225 b) KHENZZHITOMBE S ICDOWT, F/'(z) = f(z) DEE,
s= [ r@dr=F@L=FO)-F@
\EHES (£} ]b)
ARy = f(2) & o Bl (FE a 225 b) KB ENZTI DM S 1I2OWT, F'(z) = f(z) D& E,

s= [ r@dr=F@L=Fo)-F@
b

\X SR {AR} 1]

n—1 n

n—1 n
Jim, > S (o) = lim ) f (@)
k=0 k=1
ZClT,

x:ﬂ, z =a+kz
n

\EEOES (AR)[]

ity = f(2) & 2 MOBOBY (o < o < b) % = MO D Ic—HliE S ¢ T T & 3 AEED KR,
V:w/b{f(m)}zd:c
\EEOES (A7) D]

Wity = f(2) & 2 WORDET (o < 2 S b) % 2z WO D IRl S & T T & 3 REAEDFAT I,

V:w/ab{f(x)}de
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